Write the missing phrase.

Circle all the numbers greater than 4,500

1,000 3,960 4,499 985 4,526 a) 4,720 4,635
b) 5,100 800
o 3,195 3,591
d) 2,000 7,999

Think1 True or false? Think 2

Q000 Convince me that 5634 is less
© 00 ., 0000 than 9523.

0000 ~ ©00
0000
000

Explain how you know.

Order the numbers below. | am thinking of a number. It is greater
Which would be the fourth number? than 3,000, but smaller than 5,000

[ ) The digits add up to 15
33 What could the number be?

.\

Write down as many possibilities as you
can.

The difference between the largest and
. B dirih smallest digit is 6. How many numbers
Explaln RS SRRk do you now have?




